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CHE 450G Problem Set 1 (HW 1)

September 4, 2007

Name:

Assign each molecule below to the proper point group.

a, O0=C=C=C=0 (linear)
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{Eclipsed Carbanyls}

g. white phosphorus, P,
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g. Cu(NO,);*" in Rb,PbCu(NO,),
(not the same structure as Fig. 1-29)

a=2064
)
e=2.i7A

{Structure redrawn from S. Takagi, M.D. Joesten, and P.G. Lenhert, J. Amer. Chem,
Soe., 97, 444 [1975].)
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Determine the products:
4 1 4 3 4 1 4 301
a. j—1 ~2 ~1]-]~1 b. [~1 -2 —-1{-}{~1 2 O
2-1 1 0 2 -1 1 0 00

Write a three dimensional (ie., 3 x 3) matrix representation of each‘of the
operations of the point group D, which are: C, (z), C, (x), C, (), E, i, o(x2)
o yz), and o(xy).




